(DENG 1)

B.A/B.Com./B.Sc./B.HM./B.B.A/B.B.M. DEGREE EXAMINATION, DECEMBER 2019.

First Year

ENGLISH PAPER —1

Time : Three hours Maximum : 70 marks

1. (a)

(b)

PART A
(Analysis Skills)

Read the following passage and answer the questions that follow.

Naval architects never claim that a ship in unsinkable, but the sinking of the
passenger-and-car ferry Estonia in the Baltic, surely should have never
happened. It was well designed and carefully maintained. It carried the
proper number of lifeboats. It had been thoroughly inspected the day of its
fatal voyage. Yet hours later, the Estonia rolled over and sank in a cold,
stormy night. Of those who managed to scramble overboard, only 139
survived. The rest died of hypothermia before the rescuers could get them.
The final death toll amounted to 912 souls.

(1) Where did the ferry sink?

(11) Why should the accident never have happened?

(111) What was the effect of the accident?

(iv) What was the passenger-and-care ferry called?

(v)  Give the synonym for, ‘fatal’.

Read the following passage and answer by choosing the right option :

Erosion of America’s farmland by wind and water has been a problem since
settlers first put the prairies and grassland under the plow in the 19tk
century. By the 1930’s, more than 282 million acres of farmland were
damaged by erosion. After 40 years of conservation efforts, soil erosion has
accelerated due to new demands placed on the land by heavy crop production.
In the years ahead, soil erosion and the pollution problems it causes are
likely to replace petroleum scarcity as the nation’s most critical natural
resource problem.

(1) As we understand from reading, soil erosion in America
(1) causes humans to place more demands on land
(2) 1s worse than it was in the 19th century
(3) happens so slowly that it is hardly noticed
(4) 1s the most critical problem that the nation faces
(1) Erosion of Farmland’s happens by
(1) Putting it under the plow
(2) Pollution

(6x1=5)

(6x1=5)



(a)

(b)

©

(d)

(3) Wind and water
(4) Placing new demands on the land
(111) The author points out in the passage that erosion in America
(1) has become severe and forced people to abandon their settlements
(2) occurs only in areas with no vegetation
(3) can become a more serious problem in the future
(4) was on the decline before 1930’s
(iv) The antonym for “accelerate” is
(1) Rapid
(2) Slow down
(3) Stagnant
(4) Stop
(v) It is pointed out in reading that in America
(1) petroleum is causing heavy soil erosion and pollution problems
(2) there are many ways to reduce erosion
(3) water is undoubtedly the largest cause of erosion

(4) soil erosion has been hastened due to overuse of farming lands.

Correct the following sentences : (bx1=5)
(1) The small child does whatever his father was done

(1) The man to who I sold my house was a cheat

(111) Where is the shoes?

(iv) A laptop was very sophisticated and costly

(v) They were all shocked at his failure in the competition.

Rewrite as directed : (bx1=5)
(1)  They left for the airport. (Add a question tag)

(11) Jaya ordered the food. (Change the voice)

(1) He said, I did not lie. (Change into indirect speech)

(iv) Inspite of his hard work, the body didn't succeed. (Change into
compound sentence)

(v)  Susan will help you solve the problem. (Change into negative sentence)

Change into direct speech : 2x1=2)
(1 Raju told me he was going to the barber

(1) Preethi asked me to pass the salt

Fill in the blanks with correct form of verbs given in the brackets : (bx1=5)
(1) He wants Mary ————— (do) the dishes.

(11)  Would you mind ——— (open) the window, please?



(e)

®

Gandha.

(2

(b)

(1) He usually —————— (do) his homework in his room.

(iv) Let me ————— (leave) the classroom please.

(v) John ——— (watch) TV every night.

Fill in the blanks with suitable words given in the end.

(1) She ———— the job offer.

(11) The dog ran ————— the yard.

(111) He ————— about his mistake in that test.

(iv) She ————— and walked away.

(v) John ———— his friends for a while and then went home.

(velled, visited, accepted, thought, across)
Rewrite the following set of jumbled sentences to make a coherent passage.
(1) He could have practiced law and spent a comfortable life.
(11) He was born on 224 October, 1869
(1) He choose to fight the British, for independence.
(iv) Mohandas Karam Chand Gandhi, popularly known as Mahatma

(v) He was a lawyer by profession.

Write three exchanges of dialogue between a person who wants to book a
reservation at a hotel and the receptionist there.

Write a paragraph using the following hints.

Good for young and old — refresh mind — makes us smart and active — light
exercise — see nature — birds fly — flowers bloom — ponds — canals — full of
water — running water — sweet music — regular walk — enjoy most.

Write in about 100 words on any ONE of the following.
(1) The effects of peer pressure.

(11) The downside of smart phones.

(1) Growing number of people shopping online.

PART B

(Descriptive skills)

3. Write an essay on ONE of the following :

(a)
(b)
©

Justify the little, “A sense of the Future”.
Bring out the humour in George Bernard Shaw’s, “Dilly at the Dentists”.
Summarize the story of “The Topaz Cufflinks Mystery”.

4. Write short notes on any THREE of the following :

(a)

Rose”.

Write about the comparison of the rose to the lady in the poem “Go Lovely

(6x1=5)

®3)

®3)
®3)

®3)

(1x5=5)

Bx3=9)



(b) What is the central theme of “On killing a Tree”?
(¢) Summarize the poem, “The Express”.
(d) How is the importance of nature brought out in the poem, “Tables Turned”?

(e) Justify the title, “Laugh and Be Merry”.

Write an essay on ONE of the following : 1x4=4)
(a) Explain the irony in Karel Capale’s, “The Fortune Teller”.

(b) Bring out the appropriateness of the title, “God sees the Truth but waits”.

(¢) How is Srijut the victim in “The Gold Watch”?

(a) Explain any two of the following : 2x2=4)

(1 Yes I did, but that “be in London. She is going to stay with me, and
then live with the same family”.

(1) You ask, what is our aim? I can answer in one word. It is victory.
(1) ‘T've seen wild cats in trees at night and their eyes shine’.

(b) Explain any ONE of the following : 1x4=4)
(1 Up!Up! My friend and clear your looks why all this toil and trouble.

(1) Allis, if T have grace to use it so. An ever in my hard task Master’s eye.
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SECTION A

1. fdbogl dital &t Aogs Afgd I BT (3x3=9)
(a) TfecT Bt gor 3 Jgrared Sfia If His 3 dt 3 forewr &t v % & 3Merdd 3

(b) 3t 319 8t Gre B 872 31 d BT &, Tre P34 &l P 6 3R O S f Sgler gl
391G BT R FoT I - |

(© 3SUf BT BH TGl &: AR, AT U dg At DI SIeATcl! &, ST g A IAPBT SToH BidT o

(d) IRCAAT Bl G| F FoTET BT ASTPAR, JFER 3]s BT el §- R &G bt ATl FF[Uce H
5o ST} STetett | 3 3yt

) ‘‘PIBIRWFGs?’ ‘IR Iod sl Ad I’

SECTION B
2. fdoft v ure @1 A fadwanstt Afga felRam  (10)
(a) i 3R Bfar|
(b) e it

3. &t oo ure @1 Amrer faewanatt Afga faRawl - (10)
(a) 351 o ot A A A
(b) A T H TR

4. fbft o wgret 1 A RAwanatt afda ferfaer (10)

(@) TR
(b) QMR BT drareT|



(c)

(@) TRoal eel B 3TaeddmaT d1d g 3Uel BIC #13 &I W eIl |
(3terarn)

(b) 3MID Hpe DI TGl & AT H FAPRUICIST B 3HfEBR BT U7 fra|

faseft @ wrot @1 StaTe g ufeRn & forlae) (2 x 3 = 6)

() el @1 afE-fEor Hifsr|

(b) STET it 3BT TfHr-femor Bifom

“IGTIR BT dTdiet”’ Fglett BT 2fies bt el R g Sfey
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(3 et Bret A fARe))
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(g) QR oI ctet st ot
(e HIfo)
(h) 3t 3T T
(ATt Sgere ferag|)

(10)
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Answer the following.
(3 x 8 = 24 marks)

1 (a) Write the significance of the Ramayana in 10 lines.
IARIVRITAARVHATEIpeY G2T aTaTiol forsrd ?
Or
(b) Explain the qualities of scholars as described by Noble Vidura.
gt s 9 e o 2
2 (a) Write the words uttered by celestial bachelor with Parvathi who was
performing Penance.
queTsdt arddt gfcr sifeer=r agenfer forsa 7
Or
(b) Explain the help rendered by Rajavahana to Brahmin.
TG (Gl (321Gad ?
3 (a) Describe the six seasons as prescribed in the lesson.
UTGIHTSHORICY YEe] Jurad 2
Or
(b)  Write the story of intelligent Rabbit.
AR BEicl BT forerd ?
4.  Answer any FOUR of the following with reference to context. 4x3=12)
Tcd 521216634@&’1 1A |
(a) T YRedloH ool HloIdogUT |
(b)  FAEHATUNG TogAT: |
(¢) ferfoganfor of Jad|



(d) Femgfte et gl

(e) ORRATE JEHATERTH|

(f)  TIr: Bt 1§ Yeleiaa faerd |

(9) 3T Profol GIPADCH! TATHI

(by o g et I wal

Translate any TWO into English or Telugu.

& STCLHTII a1 TSI aT 3iefdTed |

(a) 3 pad ot e gfie fRafr =
BH TRHA G AATGHAGITIH |

(b)  JATcHe TS eAtefafiafian|
FARINHTS oTsrIleaeq w3 aicad ||

) foraa werdfer fotfecafer of Jad |
3TTTIRRTab: STgZeNTel UAcaUSAot&ToT | |

(d) TS ARYITET ATe: FdBHOTH|
SUTIEH ASATON oR: Ufoed Jead ||

2x3=6)

(a) Write the forms of any THREE in the other numbers of given persons :

TV gy &g FATOT forzd |
G) safa Gi) srfFrsafa
(i) s (v) faeRg
v) od (vi) 3red
(vii) dogd (viii) 31|
() Decline any FOUR as per the case ending.
TquIt AdTGHTEY QreG=aTor fored |
0 @I Gi) P

(iii) el Gv) foaf

(Bx2=6)

(4x2=8)



(v) o al (vi) IHH

(vii) Afar: (viii) oT&|
(¢ Combine any FOUR Sandbhis. (4x2=8)
Feai? Feerd |
@) dY+IE (i) 7T + IG:
(i) ©Tq + 3T (iv) al+3m
(v) dq+d (vi) ad + cler
(vii) §C+ I3 (viii) 3T + 37oat: |
(d) Dissolve any THREE. (3x2=6)
FTOT frsrgaTaRfer fersrd |
G) e (i) gdor:
(i) 3[cTafer: (iv) TR
(v) 3ren: (vi) Sftcelicaers]

(vid) GBS (viii) TR
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B.A/B.Com./B.Sc./B.HM./B.B.A/B.B.M. DEGREE EXAMINATION, DECEMBER 2019.

First Year
I.H.C.

Time : 1% hours

10.

SECTION A — (2 x 13 = 26 marks)
Answer any TWO of the following.
Describe evolution of Caste system in Vedic culture.

D903, yBS” HeNgIY HBe00 HBOD DSBoBBL.

Describe norms of Buddhism.

23"(33&)@83&) 3B0E); D20ERHOD DBBoLSwW.

Why Gupta period is known as Golden age.
1O® DBAORBROD DSBoSH.

Explain status of women in Mughal rule.
00Ker0s0e FroPS® T FFErd HBoSBW.

Why did Ashoka fight no war after Kalinga?
9% E9oi oimgsﬁ.n BB0T°H JOLOK oiS.Dtgsﬁ.D DoHSKo.

Describe briefly the social reform movements.
R0R0E H0R), BT EHEDBNON KHOM DSBOHID.

SECTION B — (3 x 4 = 12 marks)
Write short notes on any THREE questions.

Sufism

RONY)
Vijayanagar rulers
D2S0ING Treeen
Non Violence

0

Satyagraha
é@"élﬁb“’m

Maximum : 50 marks



11.

12.

13.

14.

15.

16.

Ramakrishna Mission

wmégngS

Sati system

DRDT KBBS00

Non Co — operation movement.

[EADH :Jcoéeﬁe‘s%émm

Ishwar Chandra Vidya Sagar.
ée%‘sg P08 36"5@1’??5

SECTION C — (3 x 4 = 12 marks)

Answer ALL questions.

Fill in the blanks :-
PrdOL FrrB8oLw.

(a) Child marriage was eradicated by

EPODTHVN OSB3 DDIB AHB .

(b) Mughals came from
AVFEPOLY E);E600D ;51‘1)38 .

(¢) Mahabharat was written by .
05382 E800:0 B0V TED .

(d) founded Buddhism.
e3P0 eED.
] ®

Choose the correct answer :-
DBADYP DLTPGESS0eD (P08

(a) Mughals brought to India.
B0KETP0ED 2IPSBRFI0IE NG

1 Islam (111) Buddhism
AP FEH0B50

(1) Jainism (iv) Christianity
BIL0EBS0 Ls._.x;;smeém



(b) Akbar' minister was
©9%)5 s 8D
@

(1) Todarmal (1) Birbal
&850 DB
(11) Tenali Rama Krishna (iv) Akbar
B8 TeHA CENeS

() Gandhijiled
o8 3e§9e§£m 89

(1) Bhakti Movement (1) Jainism
238 €053000 BIL0EBS0

(11) Dandi March (iv) Buddhism
CSO&&&PSQ 23"(83&)@5&)3

(d) Indus valley civilization is related
D00E° 0 KB5S BIE $00G0IIE.

(1 Kalinga (111) Warangal
E9oK 380KS

(1) Harappan (iv) Vijaynagar
By DesaHINBo

17. Match the following :-

2BIGE 1~

(a) Mughals (1) Agra
2005000 e

(b) Non Violence (1) Caste
IJP0 o0

(¢ Taj Mahal (ii1) Delhi
TEOTS &@

(d) Untouchability (iv) Ahimsa

90800”8500 90
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BUSINESS ECONOMICS

Time : Three hours Maximum : 70 marks

SECTION A — (4 x 3 =12 marks)
Answer any FOUR of the following questions.
1.  Positive Economics.

a;ﬁdeavééé eﬂgwgo.

2. Types of demand.

&H0& Sseen.

3. Exceptions of law of diminishing marginal utility.

&65°200% (DABIesd BITBO B, QDT N0

4, Price discrimination.
S8 DHEEv.

5. Kinked demand curve.
808 &55°0& B.

6. Real wages.
T°IDE Jdeen.

7.  Break even analysis.

[B38-543S D35eo.

8.  Balance of payments.

290 B30.



10.

11.

12.

13.

14.

15.

16.

17.

18.

SECTION B — (2 x 8 = 16 marks)
Answer any TWO of the following.

Define economics and discuss its scope and significance.

eﬁg%"’g«?)& DIGDOD, TP AE); HBE HoBAs» @él)&)zgém 9HB0Ho&.

What is elasticity of demand? Explain the various types of elasticity of demand.

G508 TS 050 NI B2 DD 850 GHIrod TE HEEER HB0d dHBoBod.

Explain price and output determination in perfect competition.

IBIyY D8e3S° &8 D085 EHD DB0V0DE0 K80 IHB0H0E.
€ OJ -0 £

Critically examine the Ricardian theory of rent.

8?56: ge0¥ ?ocgo@%& DI SO DHBOYHH.

SECTION C — (3 x 14 = 42 marks)
Answer any THREE of the following questions.

Explain the comparative cost theory of international trade.

OBTAKD TS BOOTE H5aD ?ocgo@b& DHB0HBw.

Describe the role of WTO in promoting international trade.

@08 TR TDNAS® WTO (B30 9580330,

Explain the cost-output relationship in the short-run and long-run.

R5e) 08050 BES S &) -H50% P020FR BOS0E.

Explain the law of equi-marginal utility.

FDAT°0TH [DABIC2 AI°BHH DHBoYhHdw.

Define business cycles. Explain different phases of a business cycle.

TGRS H(EOR0 DEFDOHOG. T HEOS D DV 5500 B0

What is meant by National Income? Explain the various concepts associated with
it.

2PHAL e5TPAS0 LI DA? DL BPAAL e8TPA% ZPHIOR) DHBoHDOE.



B.Com. DEGREE EXAMINATION, DECEMBER 2019.

First Year

FINANCIAL ACCOUNTING -1

Time : Three hours

SECTION A — (4 x 3 =12 marks)
Answer any FOUR of the following questions.

1. Book keeping and Accounting
20§ 820R 308050 e 0e30R

2. Suspense Account.
€908 T

3. Bank overdraft
2508 L5515y

4. Causes of Depreciation
SEINE SeEeFoeD

5. Types of Reserves
8&63030 Sseen

6. Parties in bills of exchange

DAKAD Dep&™D Ben

7. Joint Bank Account
é:)o&& 208 grev

8. Classification of Accounts.
PPT°O 85?5583.

9. Explain the different types of subsidiary books and it's advantages.

SECTION B — (2 x 8 = 16 marks)
Answer any TWO of the following questions.

Arun

(DBCO 12)

Maximum : 70 marks

DA 8B JIPADHE VePod JHB07, T0e3 H0 EOR DA resmrod 180D DHBoB0GE?

10. Journalise the following Transactions :

2010 Rs.
Oct 1| Prem commenced business with 45,000
4| Goods purchased from Prakash 6,000
7| Goods purchased for cash 17,000
9| Cash paid into bank 5,000
11| Paid to "M" on account 2,000
25 | Paid for salary 25
26 | Advertisement paid 100
30 | Withdraw from bank for personal use 400
31| Paid salary by cheque 350
31| Received commission 500
31| Cash paid to Prakash 1000




11.

12.

86808 HIIPT O VeTHhen [Frohod

2010 Rs.
©F 2 1| (P20 TR D800V Soregso. | 45,000
4| 15570 5009 §iten DD SHH 6,000
7| K% TR0 DY BSHH 17,000
9| erg0%e” 30D JKeDH 5,000
11 "M" & gree oegoe 38058 2,000
25 | Dzren 3oy 25
26 | 956505 30 100
30 | Rr0mPR8 23RS’ BROY) I 400
31| 3%, oo Bere 3YoY 350
31| 38D BB 500
31 [H5°05 DoDS BKKed 1000

Explain the need for bank reconciliation statement.
2775050 DO BB0IOD D63 D), DTy dHBoS0k.

Arun

From the following Ledger balance of Ashok. Prepare trial balance as on 31-3-

8 BI05 DS &5 oo ood 31.3.2013 °¢3 e95°8 evo¥ese S0 D0H0E.

2013.
Rs.
Capital 1,00,000
Plant and Machinery 78,000
Furniture 2,000
Purchases 60,000
Sales 1,32,000
Purchase returns 800
Sales returns 1,000
Opening stock 35,000
Discount received 900
Discount allowed 425
Sundry debtors 50,000
Sundry creditors 30,000
Salaries 7,600
Manufacturing wages 10,000
Carriage outwards 1,200
Provision for debenture debts 525
Rent, Rates and Taxes 10,000
Advertisements 2,500
Cash in hand 6,500
8o,

0000 1,00,000

aR0ew, aDo@Een 78,000

5836 2,000

E R 60,000

ea;ﬁoéS"e)J 1,32,000

(DBCO 12)



Arun

8.
R0 TPS0en 800
@m&sw PSS BIOW 1,000
5085 DS 35,000
SV G085 900
DY 7,065 425
QY 2veaigen 50,000
ST TN 30,000
Dereen 7,600
EliaYaN] SSTeen 10,000
@;Soéét’.g) Brese 1,200
Bo¥oirGs ar8od domyew 525
o3, Bey & 585000 10,000
[S5eoden 2,500
38S® HKes Do 6,500

SECTION C — (3 x 14 = 42 marks)
Answer any THREE of the following questions.

13. What is Reserve and Provision? Explain various types of Reserves and Provisions
in detail?
Bastg S0Bak bc‘beao VRPN ? DY E5°e Bastbeen B bct;)%) 180 HJorr
DS5BoS0&.

14. From the following particulars, ascertain in bank balance as per cash book of
Swamy as at 315t March 2012.

(a) Credit balance as per Pass book as on 31.3.2012 Rs.2,500
(b) Bank charges of Rs.60 had not been entered in cash book

(¢) Out of the cheques Rs.3,500 paid into the bank, a cheque of Rs. 1,000 was not
yet credited by the banker.

(d) Out of the cheques issued for Rs.4,500. Cheques of Rs.3,800 only were
presented for payments.

(e) A dividend of Rs.400 was collected by the banker directly but not entered in
the Cash book.

® A cheque of Rs.600 had been dishonoured prior 31.3.2012 but no entry was
made in the Cash book.

85308 HEHIFTE 31 53°8y 2012 D A HHK HEO HS°E0 DO EXR B0,
() rRa0E B350 B&e deog 31.3.2012 S 872,500
(b) 258 T°Gen &I 60 IKL HYEoS® HATW TS
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Arun

© DEye0 &, 3,500 Dens Eod ergoes” JAhre K°.1,000 Dews Ko I,
0208’ B 8.

(d) &8 D3 D0 85°. 4,500 o 8. 3,800 © DE0%H G 3o wBRo8.

(&) nasS® B S @i oS GIBoS 8. 400 KK HILoS SITEd
5°SK0.

() e 600 0% DK, WTESEes J0BI8. 5°0, 31.3.2012 HBKH I HIoS® S
oS,

15. Ramesh and Suresh join together to construct a building for Rs.25,00,000 sharing
profits and losses equally. They opened a joint bank A/c. Each contributing
Rs.5,00,000. They incurred the following costs.

Raw materials purchased — 10,00,000
Wages — 2,50,000
Materials, supplied by Ramesh — 175,000
Materials supplied by Suresh — 1,00,000

Suresh took over the stock of material valued Rs.50,000. The contract was
completed and all the money was received. Prepare joint venture A/c, joint bank
A/c and personal accounts.

B B dBhew ¥ PID) Ao  Bv. 25,00,000 ©%H  asyoso
éaéoéaaénm&&. PR OPPON DaUPROTE H0W0EI0LPH). mﬁgdﬁ &;i)é& w§o§> P B8,
TS 287,80 87, 5,00,000 w50 D780, T8 PEyev.

m&:amge) §°50Rten — 10,00,000
Seseen - 2,50,000
802 Do IV SowéSwrgren — 75,000
R0BR 9000 IS B0& Seegren — 1,00,000

oY JeB5 TR (58900 ©0838. WARDN Sy AR LB 83°.50,000 0
@éoé)m&éo. D IPSTew ém&&w@, e,;soé& 2505 e Bk ;Saﬁﬁé PPTCOR
SIS DoDoE.

16. What is meant by final accounts? What are the accounts prepared in final
accounts? Explain.

S00R0Y) BE)en BITID? R0y 8,0S° S8BT graren D2 BBoSod.

17. Mr. Raj of chennai consigned 100 air conditioners to Mr.Rao of Delhi to be sold on
consignment basis at Rs.32,000 per air conditioners. Mr. Raj incurred the following
expenses Packing and forwarding charges Rs.10,000, insurance Rs.20,000. Mr. Rao
received the consignment and sold 82 air conditioners of Rs.40,000 each and
incurred the expenses freight, charges Rs.18,000, insurance of warehouse Rs.6,000,
Sales man salary Rs.36,000. Ascertain the value of consignment stock and show
accounts of Raju.

3ZSD oof S oSN 100 Jowb KodISEH 28E,ER  devs &°.32,000,
55806 ey ABo oK. HoIe3 AWE0 T°E DR Do HuBALL Hode3PENED §3°.10,000, B
DHT0D EDPO0ED ALEd Dewsd H0BAN T°& graesy @eahod.

18. On 1.1.2015 XYZ and Co. Ltd purchased a machine for Rs.1,00,000 and Estimated
its life is
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5 years. On 1-4-2016 another machine is purchased for Rs.1,50,000 and estimated
its life also 5 years. On 31-12-17 the first machine become obsolete and sold for
Rs.60,000. They close the books on 31st December every year. Prepare machinery
account for the year ended
31st December 2018. Assuming the depreciation was charged on fixed installment
method.

1.1.2015 3 XYZ e0& §°. dBE 2.8 aho@=dy 85°.1,00,000 0K S0 7. &
25700

5 D0l1eD TP @0S° BT, 1.4.2016 S $06°8 aboEedy &r. 1,50,000 0% S0 en D,
ol BIBP0 K¢ 5 Holeon @0ST° e, 31.12.2017 S 303 ohoo DS
TR0 TP &U°.60,000 0% @ibéx)"éa. T 198 éo;ﬁeé(bdo G028 31 H grmren
SR JETVTO HEB (I5°80 SEIOEOK JT2en By, 31.12.2018 & eosSochy
BOHEHYTPAE OO0 FPE°R BALE JoDod.

Arun
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B.Com. DEGREE EXAMINATION, DECEMBER 2019.
First Year
QUANTITATIVE TECHNIQUES -1

Time : Three hours

SECTION A — (4 x 3 =12 marks)
Answer any FOUR of the following questions.

Explain the sources of secondary data

aséaow BERo¥o eErTre 80Y0s.

Questionaire

@8"&&5@

Any three merits of arithmetic mean

OSSO0 B, IFT® HIT (HAT BT

Demerits of Range

g B0, SParoen

Differences between correlation and regression

QTR0 08030 (N30 Q0G5 I

Probable error

RDogTSgE &350

Set and sub set
DA 0BT &JIWB

Types of matrices

37| HES® Sseen

SECTION B — (2 x 8 = 16 marks)

Arun

(DBCO 14)

Maximum : 70 marks

Answer any TWO of the following questions.

Compute mode from the following:

Income: | 0-100 | 100-200 | 200-300 | 300-400 | 400-500 | 500-600
Frequency: 8 14 13 15 7 3
1808 Ser0¥0 0D erFEE0 ERATI0G.

esoroHo | 0-100 | 100-200 | 200-300 | 300-400 | 400-500 | 500-600
o)V | 8 14 13 15 7 3




10.

11.

12.

13.

14.

15.

Find out Median from the data given below:

Marks (More than):| 0 | 10 | 20 | 30 | 40 | 50
Students: 5046 140|20|10| 3

808 &@rogo 0D iBo S0 S0k
Soe8o)e0 (8083 250),0) | 0 | 10| 20 | 30 | 40 | 50

Dorgizen 50| 464020 10] 3

Define statistics and state the limitations of it.

earo8 %’“Qvi)& QBgow), O"’X)é.)é& HBASBOO @0030&.

Arun

Find the regression line of y on x for the following data and estimate y when x = 9.

x:| 18|26 |28 3125|1935
y:| 11|16 |19 |17 |14 | 11|24

Bo8 &@roFo 00D x NS ¥ (HBKSD K)fbééwi)& FPow, x DN 9 BOVIIPE Yy
Qe0HX

®0IT° VaHoB.

x:| 18|26 |28 3125|1935

11116 |19 |17 |14 | 11 | 24

SECTION C — (3 x 14 = 42 marks)
Answer any THREE of the following questions.

What are the advantages and dis-advantages of graphic representation of data?

S0 B, D DBV T SI500S Ko (SABresarey, S o) 80)08?

Explain the following:

(1) Harmonic Mean (i1) Rank correlation

(i11) Sets (1v) Skewness

180873 DHBoS0&

(i) S8 g0 (i) §°%3 seSo08 Heaso
(i) Sdoeoen (iv) PAedoge0

From the data relating to two factories A and B find the following:
(a) Combined mean and

(b) Combined standard deviation

Factory A | Factory B

No. of workers 100 150

2
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16.

17.

18.

Mean

45

55

Standard deviation

7

12

BIHS 2Dy avégé A,B 0% 3085 3557808

(a)
(b)

éo;ﬁo&& 208063500, B

éo;ﬁo&& [EPUPe3E DIORDH0R EoR" P0Gk

avégé A

@végé B

[CIROSEVURNCE )Y

100

150

208095000

4

5

55

PeRIERE DSOBB0

7

12

Calculate rank correlation from the following:

Arun

X:

48

33

40

9

16

16

65

24

16

57

y:

13

13

6

15

4

20

9

6

19

1808 &@ro¥o o §%3

TP0V0E

10380 E0A°

o& :

X:

48

33

40

9

16

16

65

24

16

57

y:

13

13

24

6

15

4

20

9

6

19

In a class of 50 students appearing for an examination of ICWA, from a centre, 20
failed in accounts, 21 failed in mathematics and 27 failed in costing, 10 failed both
in accounts and costing, 13 failed both in mathematics and costing and 7 failed
both in accounts and mathematics. If 4 failed in all the three, then find the number
of students who passed in all the three subjects.

2.8 $5KBS® 50 3008 deegiyen ICWA D850 S8 Fatd WAIRD. & Dowd Hod 20
508 505, 21 5008 Ke3soS D BA 27 $08 $°YoRS” awd eowTw. 10
3008 &9?60650) 08030 S"Z\o)oﬁ Bo&ot3e' D, 13 008 Kedeso SHB8atw SD?goﬁ Bo&oe3
5080 7 208 ©8°0edy DBAD KBB0S® Pond 0T, SeorHtd Dergegen Soreed
PPHOS Dowd ©ond? Jod08 ghen S SPLES” &8ES rGoE’
ERS08.

Find the inverse of the matrix [

30| 3° DS°50B80 E0RH0E

1
4

1
4

8
7]
12 5 9

3 8
2 7

12 5 9

3
2
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B.Com. DEGREE EXAMINATION, DECEMBER 2019.

First Year
Computer Application
Paper I — COMPUTER FUNDAMENTALS
Time : Three hours Maximum : 70 marks

SECTION A — (3 x 15 = 45 marks)
Answer any THREE questions.

1.  Write about various types of input devices/output devices.

DD 5570 BONE H0BA%W ©99)e5H)eS 85T K80 9BoVod.

2. Define computer. What are the elements of computer system? Explain the
characteristics and limitations of computers.

SoIrged eRE SEH0R0 dYgVoBG. EoPrgad system S*  elements 28 SoIrgewd
Boog); OFETON IBABO JHBoHo&?

3. What is software? Write about the procedure for software development.

F5EE @BmH? 26 0P8 B 5E8R 9580908,
(o] ®

4.  Define topology and write about different types of topologies.

%5080 DEIV0VOE. DG E5°0 ¢5°0ROR) HBoWOE.

5. Describe the services offered on Internet.

Q0eIB)ES S50 T 0P WHe 80D dHBoBOG.

6. Explain various security standards for internet.

B08BRESS® 85|58 [DdureTen KoB0od ddBor [FraHod.

SECTION B — (5 x 4 = 20 marks)
Answer any FIVE questions.

7.  Internet Banking.

Q0605¢5 zovzgo%oﬁ.

8. What is a tool bar?
65235 9083 DD0e3?



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Computer languages.

EoIrgend eroRg.

Security risk.

257863 risk.

Online business.

BRS® DIVX.

Explain the meaning of Internet. What is the advantages to e-business?

20628365 N I20? B0eBIES HO S+ DFIVE ePgred HDe3?

Multimedia on web.

35 HDodasr.
SECTION C — (5 x 1 = 5 marks)
Answer any FIVE questions.
Desktop.
&52;65*’5.
Editing option.
AEeI0N e35%.
o\

ALU (Arithmetic Logic Unit).
©OENERS B0BASL B0 AHIRES.

WWW (World Wide Web).

€:90§f90;€)0.

Tab key.
e 8.

E-mail.

Q-0

Face book.

R 28,



